## EXHIBIT D

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Dete	rmination						
	SECT	<u>ION I</u> :	ON I: Claims Determined Not to Have a Recognized Claim									
	A. Claimant held all sh	nares of		mmon Stock otice ¶ 67(E)	2	ary 23, 201	8 for a Recog	gnized Gain				
1	Again for Rejection: No Recognized Claim.    The Claimant held all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation    Detailed Explanation: Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant's "claim should calculate as \$183.29 per share minus \$38.00 per share" The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission.  A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.    Transactional History:   Transactio											
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice <u>Reference</u>				
			5/17/2012	Purchase	100	\$38.00	\$3,800.00	¶ 67(E)				
			2/23/2018	Unsold Holdings	100	\$183.29		¶ 67(E)				

<sup>&</sup>lt;sup>1</sup> See Notice of (I) Proposed Settlement and Plan of Allocation; (II) Settlement Fairness Hearing; and (III) Motion for an Award of Attorneys' Fees and Litigation Expenses ("Notice").

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	rmination					
2	JOHN ADDARIO & RENEE ADDARIO JT TEN (49251708)	Detailed Because Net Rec Period a calculate minus the requeste 17, 2012 any add Claiman	the	e Claimant held e Class Period for gero pursuant to es purchased dur nount is \$0.00. So f the close of tra e \$183.29, the co sition price." No in the basis of the set the Claimant ins beyond those further explain	ing the Class landing on February Febru	Period were he Period	for shares purce "a Recognized Common Stock the Notice of Finant's shares we basis for rejections ubmission. A.	dized Gain Amore thased during the Gain Amount on February 2: Rejection, the Cere "purchased on or reflect or B. Data conta	Amount the he Class shall be 3, 2018, Claimant on May support cted the		
		Transac	Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice <u>Reference</u>			
			5/17/2012 Purchase 200 \$38.00 \$7,600.00 ¶ 67(E)								
			2/23/2018 Unsold Holdings 200 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination					
3	F I RUTENBERG & K A BERKOWITZ FAMILY TRUST (49252526)	Reason f	the	o Recognized Cl e Claimant hela e Class Period f zero pursuant to	l all eligible si for a Recogniza	ed Gain result		•	_		
		Net Reco Period an calculate minus the requested trust still Claiman beyond t to further	Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E)). In response to the Notice of Rejection, the Claimant equested Court review on the basis of the stated belief that the Claimant "omitted the required proof that the rust still owned 100 shares of Facebook at the close of trading on February 23, 2018." The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data attempted to contact the Claimant by telephone of further explain the reason for the rejection. The Claimant did not take or return A.B. Data's call.								
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice <u>Reference</u>			
			5/17/2012 Purchase 100 \$38.00 \$3,800.00 ¶ 67(E)								
			2/23/2018         Unsold Holdings         100         \$183.29         ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination					
4	JAN GROSHAN (49252746)	Reason for	Th the		l all eligible sh for a Recognize	ed Gain resulti		ock purchased di cognized Loss An			
		Net Reco Period ar calculate minus the requested 2012" additional by teleph for the C	Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant equested Court review on the basis of the stated belief that the Claimant "purchased 50 shares on May 18, 2012" The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Cransactional History:								
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012 Purchase 50 \$38.00 \$1,900.00 ¶ 67(E)								
			2/23/2018         Unsold Holdings         50         \$183.29         ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination					
5	SARA A. GLASSER (49252987)	Reason	the	e Claimant hel	d all eligible si for a Recogniz	ed Gain result	book common st ing in a Net Re		_		
		Because Net Rec Period a calculate minus the requester guideling reflect of contacter Claiman	d Explanation: c all eligible share cognized Loss An and still held as o ed which shall b he purchase/acqui ed Court review hes of the litigation or support any add ed the Claimant b ht still requested f	on the basis of the responditional transacty telephone to fi	See Notice ¶ 69 ading on Februchosing price of otice ¶ 67(E). If the stated beset the Claiman ions beyond that ther explain to	D. Specifically, pary 23, 2018, of Facebook Continues to the life of that the late provided did nose contained the reason for the state of the state	for shares purce "a Recognized common Stock of the Notice of R Claimant's "purd not change the in the original states."	hased during the Gain Amount on February 23 dejection, the Corchase was with basis for rejection. A.	the Class shall be 3, 2018, Claimant thin the ection or B. Data		
			Date of <u>Transaction</u>	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice <u>Reference</u>			
			5/17/2012 Purchase 750 \$38.00 \$28,500.00 ¶ 67(E)								
			2/23/2018 Unsold Holdings 750 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination					
6	MIROSLAW ROGOWSKI (49253285)	Detailed Because Net Rece Period a calculate minus th requeste 18, 2012 change t original rejection	the	the Claimant held the Class Period of the close of the sistion price." Non the basis of the fore be eligible the contact of th	of all eligible softer a Recognized the Plan of A ring the Class I will be recognized to the Plan of A ring the Class I will be recognized to the See Notice ¶ 67(E). The stated belief the for the settle was support any and the Claiman	Period were he D. Specifically, hary 23, 2018, of Facebook C. In response to E that the Claimment." The readditional transit by telephone	for shares purc "a Recognized common Stock of the Notice of Research of the Notice of Research of Res	ized Gain Amo hased during the Gain Amount on February 23 Rejection, the Call 50 FB shares mant provided those contained	ount, the he Class shall be 3, 2018, Claimant on May did not ed in the		
			Date of Transaction	Transaction Type	Number of <u>Shares</u>	Price per <u>Share</u>	Total (excluding commission)	Notice <u>Reference</u>			
			5/18/2012 Purchase 50 \$40.44 \$2,022.00 ¶ 67(E)								
			2/23/2018 Unsold Holdings 50 \$183.29 ¶ 67(E)								
									1		

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination					
7	MARITZA FISCHLE- EPSTEIN TOD (49255128)	Detailed Because Net Red Period a calculat minus the requested day" addition by telep for the O	the	ee Claimant held to Class Period justine purchased during the spurchased during the spurchased during the spurchased of the close of the \$183.29, the distribution price." Note that has so the claimant proveyond those contaging the reason applain the reason the claimant proveyond those contaging the reason the claimant proveyond those contaging the reason the claimant proveyond those contaging the reason that the claimant proveyond those contaging the reason that the claimant proveyond the reason that the claimant held the claimant held the claimant held the claimant the claimant the claimant held the claimant the claimant held the	d all eligible so for a Recognize the Plan of A ring the Class I See Notice ¶ 69 ading on Februclosing price of totice ¶ 67(E). the stated belified did not chained in the or	Period were he D. Specifically hary 23, 2018, of Facebook Con In response to the family that the Clange the basis riginal submissions.	for shares purce "a Recognized Common Stock of the Notice of Raimant "purchases for rejection or sion. A.B. Data of	ized Gain Amount Gain Amount on February 2. Rejection, the Cosed shares on reflect or supportacted the Contacted the Cosed Series of the Contacted the Cosed Series of the Contacted the Cosed Series of the C	Amount  bunt, the he Class shall be 3, 2018, Claimant opening port any Claimant		
			Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012 Purchase 100 \$42.00 \$4,200.00 ¶ 67(E)								
			2/23/2018 Unsold Holdings 100 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
8	DAVID LARNER & VIVIAN LARNER TRUST U/A DTD 12/01/2004 (49255865)	Detailed Because Net Rec Period a calculat minus th requeste The resp transact reflect of contacte Claiman	the	es purchased durant is \$0.00. Soft the close of the \$183.29, the isition price." Non the basis of the provided did not provided did not provided in the ditional transact y telephone to fi	ring the Class I fee Notice ¶ 69 ading on Februciosing price cotice ¶ 67(E). The stated belief not change the ne original subtractions beyond that ther explain to the stated belief and the stated be	Period were he D. Specifically, hary 23, 2018, of Facebook Contain #4' basis for reject mission. The repose contained the reason for the state of th	for shares purce "a Recognized common Stock of the Notice of R 9255865 has been too or reflect or esponse the Claim the original states."	ized Gain Amo hased during the Gain Amount on February 2. Lejection, the Connection in e en rejected in e support any action and provided submission. A	Amount  bunt, the he Class shall be 3, 2018, Claimant error"  Idditional did not .B. Data			
			Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/17/2012	Purchase	100	\$38.00	\$3,800	¶ 67(E)				
			2/23/2018 Unsold Holdings 100 \$183.29 ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)			Claim Dete	rmination								
		Reason for Rejection	n: No Recognized C	laim.									
9	JOHN ANTHONY AGRO	-			v	cebook common stoc							
	JR & INGRID JEANNE					ulting in a Net Recog	gnized Loss Amount						
	AGRO TEN ENT TOD		of zero pursuant t	o the Plan of A	Allocation								
	REGISTRATION	B : 11 1 B : 1 :											
	(49257639)	Detailed Explanation		. 41 61	D 1 1	1 11 C D '	10 4						
		$\sim$	1	_		held for a Recognize ly, for shares purchas							
		Period and still held			1		$\mathbf{c}$						
		calculated which sha		_	•								
		minus the purchase/a		<b>U</b> 1			•						
		requested Court revi											
		were acquired on M	May 17, 2012" T	The response t	he Claimant	provided did not cl	hange the basis for						
			tion or reflect or support any additional transactions beyond those contained in the original submission.										
			Data contacted the Claimant by telephone to further explain the reason for the rejection and, after anation, the Claimant still requested for the Court to review the Claim.										
		explanation, the Clai	imant still requested	for the Court	to review the	Claim.							
		Tuon so eti su el III et su											
		Transactional Histor	<u>y</u> .										
		Date of Transaction	Transaction <u>Type</u>	Number of <u>Shares</u>	Price per Share	Total (excluding commission)	Notice Reference						
		5/17/2012	Purchase	25	\$38.00	\$950.00	¶ 67(E)						
			Post-Class Period Purchase	75									
		2/23/2018											

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	rmination					
10	PATRICIA P CUREG (49258392)	Reason	the	e Claimant held	l all eligible s for a Recogniz	ed Gain result	book common st ing in a Net Rec				
		Because Net Rec Period a calculate minus th requeste or tradec or reflec contacte Claiman	Explanation: all eligible share ognized Loss An and still held as o ed which shall be the purchase/acquired Court review of the office of the Claimant be the the claimant but still requested for t	f the close of trace \$183.29, the disition price." Non the basis of the 5/22/12." The readditional transacy telephone to full	lee Notice ¶ 69 ading on February Febru	9. Specifically, uary 23, 2018, of Facebook C In response to f that the Claimant provide those contained the reason for the specific that the contained the reason for the specific that the spe	for shares purch "a Recognized of the Notice of Romant's "700 stood did not change d in the original stoods."	nased during the Gain Amount on February 2 ejection, the Cock shares were the basis for a submission. A	he Class shall be 3, 2018, Claimant bought rejection B. Data		
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012	Purchase	469	\$41.03	\$19,243.07	¶ 67(E)			
			5/18/2012	Purchase	231	\$41.01	\$9,473.29	¶ 67(E)			
			2/23/2018 Unsold Holdings 700 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination					
11	GARY STARKMAN (49260170)		the of	e Claimant held	l all eligible s for a Recogniz	ed Gain result	book common sto ing in a Net Rec		_		
		Because Net Rec Period a calculate minus th requeste 17, 2012 any add Claiman requeste	d Explanation: all eligible share ognized Loss Amand still held as oned which shall be ne purchase/acquired Court review of 2" The responsitional transaction to by telephone to ed for the Court to tional History:	f the close of trace \$183.29, the consistion price." Non the basis of the claimant are beyond those further explain	dee Notice ¶ 69 ading on February Febru	D. Specifically, pary 23, 2018, of Facebook Con response to f that the Claimot change the name the original	for shares purch "a Recognized Common Stock of the Notice of Romant's "shares we basis for rejection submission. A.I.	nased during the Gain Amount on February 2. ejection, the Covere acquired on or reflect or B. Data conta	he Class shall be 3, 2018, Claimant on May support cted the		
			Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/17/2012	Purchase	400	\$38.00	\$15,200.00	¶ 67(E)			
			Post-Class Period 600 Purchase								
			2/23/2018	Unsold Holdings	1,000	\$183.29		¶ 67(E)			

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination					
12	CHARLES E CORDREY & KATHLEEN L CORDREY (49262387)	Detailed Because Net Rec Period a calculat minus th requeste acquired reflect of contacte Claiman	the	the Claimant held the Class Period of the Class Period of the spurchased durinount is \$0.00. It of the close of the the \$183.29, the isition price." No on the basis of the contraction of the classic of the the close of the sponsistion of the basis of the classic of the classi	d all eligible so for a Recognize of the Plan of A ring the Class I See Notice ¶ 69 ading on Februchesing price of the stated belief the Claimant the the Claimant that the explain the state of the state of the wither explain the state of the constant the constant the state of the constant the state of the constant t	Period were he D. Specifically, hary 23, 2018, of Facebook C. In response to f that the Clait provided did nose contained the reason for the contained the containe	for shares pure "a Recognized common Stock of the Notice of R mant's "500 sha not change the in the original shares	ized Gain Amo hased during the Gain Amount on February 2: dejection, the Cares of Facebo basis for rejection. A	Dunt, the he Class shall be 3, 2018, Claimant ok were ection or .B. Data		
			Date of Transaction	Transaction <u>Type</u>	Number of <u>Shares</u>	Price per <u>Share</u>	Total (excluding commission)	Notice <u>Reference</u>			
			5/18/2012	Purchase	500	\$40.00	\$20,000.00	¶ 67(E)			
			2/23/2018 Unsold Holdings 500 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
13	RUBEN AVILA (49262398)	Reason	the	e Claimant held	d all eligible si for a Recogniz	ed Gain result	book common st ting in a Net Re		~			
		Net Reco Period a calculate minus th requeste 18, 2012 any add Claiman requeste	Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant's shares were "purchased on May 18, 2012." The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:									
			Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	464	\$42.00	\$19,488.00	¶ 67(E)				
			2/23/2018         Unsold Holdings         464         \$183.29         ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination										
14	MSL FBO MR FRED STEINBERG (49264172)	Reason	Th th	o Recognized Claim he Claimant held al e Class Period for a zero pursuant to the	l eligible sh a Recognize	ed Gain resulti		-	-				
		Net Rec Period a calculat minus th requeste Faceboo rejection A.B. De explana	Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be alculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, ninus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant equested Court review on the basis of the stated belief that the Claimant purchased "200 shares at the facebook IPO on May 18, 2012" The response the Claimant provided did not change the basis for ejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after xplanation, the Claimant still requested for the Court to review the Claim.  Cransactional History:										
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference					
			5/17/2012	Purchase	200	\$38.00	\$7,600.00	¶ 67(E)					
			Post-Class Period Purchase 200										
			2/23/2018 Unsold Holdings 400 \$183.29 ¶ 67(E)										

Disputed Claim No.	Name of Claimant(s) (Claim Number)			C	laim Deter	mination						
15	WILLIAM LYTTLETON PENN (49265102)	Detailed Because Net Red Period a calculat minus th requeste Faceboo rejection A.B. Da explana	The the of of the of the of the of the of the the of the	e Claimant held at a Class Period for a cero pursuant to the es purchased during hount is \$0.00. See f the close of tradine \$183.29, the close isition price." Notice the basis of the straight of the straight of the close of tradine \$183.29, the close is the basis of the straight of the basis of the straight of the st	the Class I Notice ¶ 69 ng on February 67(E). tated belief transaction hone to fur	Period were he D. Specifically, hary 23, 2018, of Facebook Control that the Claim are the Claiman as beyond those ther explain the control that the control that the Claiman are the Claiman are the control that the control that the control that the control that the Claiman are the control that t	Id for a Recognized of the Notice of Retaint "purchased fit provided did not e contained in the the reason for the	zed Gain Amo nased during the Gain Amount of the February 23 ejection, the Care hundred shot change the be or original subn	aunt, the ne Class shall be 3, 2018, laimant hares of pasis for mission.			
			Date of Transaction	Transaction <u>Type</u>	Number of <u>Shares</u>	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/17/2012	Purchase	500	\$38.00	\$19,000.00	¶ 67(E)				
			Post-Class Period Purchase 800									
			2/23/2018 Unsold Holdings 1,300 \$183.29 ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
16	SUSAN SILVER (49266386)	Reason	the	e Claimant held	d all eligible s for a Recogniz	ed Gain result	book common st ing in a Net Rec		0			
		Because Net Rec Period a calculate minus th requeste The resp transacti telephor for the C	Explanation: all eligible share ognized Loss Amond still held as oned which shall be the purchase/acquired Court review or the consent the Claimar tons beyond those to further explanational History:	nount is \$0.00. So the close of trace \$183.29, the contained in the reason for the provided did rese contained in the reason for the reason f	See Notice ¶ 69 ading on February Febru	O. Specifically, pary 23, 2018, of Facebook C In response to hat the Claiman basis for reject submission. A	for shares purch "a Recognized of common Stock of the Notice of Ro at "purchased FB ion or reflect or so a.B. Data contact	nased during the Gain Amount on February 23 ejection, the Case on May 18, 2 support any addited the Clair	he Class shall be 3, 2018, Claimant 012" Iditional mant by			
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	100	\$43.05	\$4,304.95	¶ 67(E)				
			2/23/2018 Unsold Holdings 100 \$183.29 ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination						
17	MAURICE CHERNIN PE DPDS (49266539)	Reason	the	e Claimant held	l all eligible si or a Recogniz	ed Gain result		ock purchased di cognized Loss Am	_			
		Net Rec Period a calculate minus the requeste ineligible or supple contacte Claiman	Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant purchased 100 shares "prior to the neligible May 22 date." The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:									
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	100	\$38.00	\$3,800.00	¶ 67(E)				
			2/23/2018 Unsold Holdings 100 \$183.29 ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
18	BARBARA E SERRA (49266751)	Detailed Because Net Rec Period a calculate minus th requeste on May contacte Claimar	the	e Claimant held e Class Period f zero pursuant to es purchased dur nount is \$0.00. S f the close of tra e \$183.29, the of isition price." No on the basis of the response the Clay y telephone to fi	ing the Class I dee Notice ¶ 69 doing on February Februar	Period were he D. Specifically, ary 23, 2018, of Facebook C. In response to that "the purced did not charche reason for the second control of the reason for the second control of the second control	for shares purch "a Recognized Common Stock of the Notice of Rehase of Facebook age the basis for	zed Gain Amonased during the Gain Amount on February 2: ejection, the Cak Common Starejection. A.	ount, the he Class shall be 3, 2018, Claimant took was .B. Data			
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	50	\$39.98	\$1,999.00	¶ 67(E)				
			2/23/2018 Unsold Holdings 50 \$183.29 ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
19	LARRY LEUNG (49266872)		the of	e Claimant held	l all eligible s for a Recogniz	ed Gain result	book common sto ing in a Net Rec		0			
		Because Net Rec Period a calculat minus th requeste of Facel rejection after exp	d Explanation: e all eligible share cognized Loss An and still held as o ed which shall be the purchase/acqui ed Court review o book Class A cor and A.B. Data cont planation, the Cla	f the close of trace \$183.29, the disition price." Non the basis of the moon stock"	dee Notice ¶ 69 ading on February Febru	9. Specifically, uary 23, 2018, of Facebook C In response to f that the Claiment the Claiment to further experience of the control of the con	for shares purch "a Recognized Common Stock of the Notice of Romant "on 5/18/12 provided did no explain the reason	nased during the Gain Amount on February 23 ejection, the C2 purchased 5' t change the b	he Class shall be 3, 2018, Claimant 7 shares pasis for			
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	57	\$40.00	\$2,280.00	¶ 67(E)				
			2/23/2018 Unsold Holdings 57 \$183.29 ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	rmination						
20	JULIA LEE (49271808)	Reason	the	e Claimant held	l all eligible si or a Recogniz	ed Gain result	book common st ing in a Net Rec		_			
		Because Net Rec Period a calculate minus th requeste purchase rejection after exp	Explanation: all eligible share ognized Loss Amand still held as oned which shall be ne purchase/acquired Court review of date range of the A.B. Data contollanation, the Clational History:	f the close of trace \$183.29, the consistion price." Non the basis of the litigation."	Gee Notice ¶ 69 ading on February closing price of otice ¶ 67(E). the stated belong the response than the telephonal fractions of the state of the response than the state of the response that the state of the response that the state of the response that the state of the state o	9. Specifically, uary 23, 2018, of Facebook C In response to ief that the C the Claimant pone to further e	for shares purch "a Recognized of the Notice of Relaimant purchase provided did not explain the reason	nased during the Gain Amount of February 23 ejection, the Cled shares "with change the b	the Class shall be 3, 2018, Claimant thin the basis for			
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/21/2012	Purchase	5	\$35.00	\$175.00	¶ 67(E)				
			2/23/2018 Unsold Holdings 5 \$183.29 ¶ 67(E)									
			Holungs									

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
21	EARL TUCKER (49273344)		the of	e Claimant held	l all eligible si for a Recogniz	ed Gain result	book common st ing in a Net Rec		_			
		Because Net Rec Period a calculate minus th requeste shares o Data co explanate	d Explanation: e all eligible share cognized Loss An and still held as o ed which shall be ne purchase/acqui ed Court review o of Facebook" ontacted the Clai tion, the Claiman	f the close of trace \$183.29, the disition price." Non the basis of The response the	See Notice ¶ 69 ading on Februation price of the stated beliated to further t	D. Specifically, pary 23, 2018, of Facebook Control In response to that the Classification of the control In response to the cont	for shares purch "a Recognized of common Stock of the Notice of Re- nimant "on May t change the base e reason for the	nased during the Gain Amount on February 2. ejection, the Called 18, 2012 bout is for rejection	he Class shall be 3, 2018, Claimant ight 710 n. A.B.			
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	710	\$42.00	\$29,820.00	¶ 67(E)				
			2/23/2018 Unsold Holdings 710 \$183.29 ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
22	ANN FRIEDERICHS (49728390)	Reason	the	e Claimant held	l all eligible si for a Recogniz	ed Gain result	book common sto ing in a Net Rec					
		Net Rec Period a calculate minus th requeste Inc. Clas for reject and, after	ecause all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the et Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class eriod and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be alculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, inus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant equested Court review on the basis of the stated belief that the Claimant "purchased 116 shares of Facebook ac. Class A Stock purchased on 05/18/2012." The response the Claimant provided did not change the basis or rejection. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection ad, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:									
			Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	116	\$42.00	\$4,872.00	¶ 67(E)				
			Post-Class Period 40 Purchase									
			2/23/2018         Unsold Holdings         156         \$183.29         ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
23	SHASHADHAR M MOHAPATRA (49728636)	Detailed	the of . !l Explanation:	e Claimant held Class Period f zero pursuant to	l all eligible so or a Recogniz o the Plan of A	ed Gain result llocation	book common sta ing in a Net Rec	cognized Loss	Amount			
		Net Rec Period a calculate minus th requeste 2012 the Clair still requ	e all eligible share cognized Loss Amand still held as of ed which shall be ne purchase/acquired Court review of The response the mant by telephonuested for the Couttional History:	nount is \$0.00. So the close of trace \$183.29, the consistion price." Non the basis of the Claimant process to further explanation.	See Notice ¶ 69 ading on Februation price of the following price of the following for the following for the feature of the following for the feature for the f	9. Specifically, pary 23, 2018, of Facebook Con response to that the Claim change the bases	for shares purch "a Recognized Common Stock of the Notice of Relant's "purchase asis for rejection	nased during the Gain Amount on February 2.5 ejection, the Cowas made on L. A.B. Data co	he Class shall be 3, 2018, Claimant May 18, ontacted			
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	100	\$42.22	\$4,222.00	¶ 67(E)				
			2/23/2018 Unsold Holdings 100 \$183.29 ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination										
24	EVELYN MARTE (49728670)	Detailed Explaner Because all elige Net Recognized Period and still calculated whice minus the purch requested Cour 'BUY' Transac	nation: gible shared Loss And held as outher the review of the control of the con	es Period f zero pursuant to es purchased dur nount is \$0.00. So f the close of tra e \$183.29, the of isition price." No on the basis of	ing the Class For a Recognize of the Plan of A ing the Class For ing price of ing pr	Period were he D. Specifically, hary 23, 2018, of Facebook Co. In response to that the Cla on 05/18/2012.	ld for a Recognized of the Notice of the Notice of the Notice of Recognized of the Notice of Recognized of the Notice of Recognized of the Notice of the Notice of Recognized of the Notice of Recognized of the Notice of Recognized of the Notice of the Not	zed Gain Ame nased during to Gain Amount on February 2 ejection, the C porting docur	ount, the the Class shall be 3, 2018, Claimant ments of provided				
		reason for the re	id not change the basis for rejection. A.B. Data contacted the Claimant by telephone to further explain the eason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claimans ransactional History:										
			ate of isaction	Transaction <u>Type</u>	Number of Shares	Price per Share	Total (excluding commission)	Notice Reference					
		5/18	8/2012	Purchase	2	\$40.80	\$81.59	¶ 67(E)					
			Post-Class Period 1.5187 Purchase										
		2/23	2/23/2018 Unsold Holdings 3.5187 \$183.29 ¶ 67(E)										

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination								
25	DYAN C. DOW (49732059)	Reason	the	e Claimant held	l all eligible si for a Recogniz	ed Gain result	book common st ing in a Net Rec				
		Because Net Rec Period a calculate minus th requeste 2012 the Clair still requ	Detailed Explanation: Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant "purchased 100 shares on May 18, 2012" The response the Claimant provided did not change the basis for rejection. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:								
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012	Purchase	100	\$40.15	\$4,015.00	¶ 67(E)			
			2/23/2018 Unsold Holdings 100 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination								
26	CHAIM BRUDER (49732386)	Reason	the	e Claimant held	l all eligible s for a Recogniz	ed Gain result	book common st ing in a Net Rec	*	~		
		Net Rec Period a calculate minus the requeste Trade ac Claiman further of to review	Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant "submitted correct & timely E-Trade account statements, showing various transactions that should be part of the claim." The response the Claimant provided did not change the basis for rejection. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:								
			Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012	Purchase	50	\$38.00	\$1,900.00	¶ 67(E)			
			5/18/2012 Purchase 48 \$40.04 \$1,921.92 ¶ 67(E)								
			2/23/2018 Unsold Holdings 98 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination					
27	MARY C SIRCHUK (49733557)	Reason	the	e Claimant held	l all eligible si or a Recogniz	ed Gain result	book common sta ing in a Net Rec				
		Because Net Rec Period a calculate minus th requeste The resp by telept for the C	Detailed Explanation: Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant "purchased shares on 05/21/2012." The response the Claimant provided did not change the basis for rejection. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:								
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/21/2012	Purchase	2	\$36.66	\$73.32	¶ 67(E)			
			2/23/2018 Unsold Holdings 2 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination								
28	DATASHA HARRIS (49735066)	Reason	the	e Claimant held	l all eligible si for a Recogniz	ed Gain result	book common sto ing in a Net Rec				
		Because Net Rec Period a calculate minus th requeste the Clain to furthe to review	Detailed Explanation: Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant "meets the terms." The response the Claimant provided did not change the basis for rejection. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:								
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012	Purchase	25	\$40.37	\$1,009.24	¶ 67(E)			
			2/23/2018 Unsold Holdings 25 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
29	KLAUS RHEINBERGER (49738225)	Detailed Because	Reason for Rejection: No Recognized Claim.  The Claimant held all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation  Detailed Explanation: Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class									
		Period a calculate minus the requester on May contacted Claimar	Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant "purchased 100 Facebook shares on May 21, 2012." The response the Claimant provided did not change the basis for rejection. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:									
			Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/21/2012	Purchase	100	€26.26	€2,626.00	¶ 67(E)				
			Post-Class Period 200 Purchase									
			2/23/2018 Unsold Holdings 300 \$183.29 ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination					
30	HELENA NG (50108758)	Reason	the	e Claimant held	l all eligible si or a Recogniz	ed Gain result	book common st ing in a Net Rec		~		
		Net Rec Period a calculate minus th requeste Facebook rejection after exp	Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant has "the proof for ownership of the Facebook stocks purchased on 5/18/2012." The response the Claimant provided did not change the basis for rejection. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:								
			Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012	Purchase	10	\$42.70	\$427.00	¶ 67(E)			
			2/23/2018 Unsold Holdings 10 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination								
31	CATHERINE M KENT (50110034)	Reason	the	e Claimant held	l all eligible si for a Recogniz	ed Gain result	book common sto ing in a Net Rec				
		Because Net Rec Period a calculate minus th requeste made or contacte Claiman	Detailed Explanation: Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant's "purchase of Facebook stock was made on 5/18/12." The response the Claimant provided did not change the basis for rejection. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:								
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012	Purchase	100	\$38.00	\$3,800	¶ 67(E)			
			2/23/2018 Unsold Holdings 100 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination					
32	GLORIA D DOWNS (50110098)		the	e Claimant held	l all eligible si or a Recogniz	ed Gain result	book common st ing in a Net Rec		~		
		Because Net Rec Period a calculate minus th requeste on 21 M contacte Claiman	e all eligible share cognized Loss Amund still held as oned which shall be the purchase/acquired Court review of ay 2012" The ed the Claimant by the still requested fundal History:	f the close of trace \$183.29, the consistion price." Non the basis of the response the Coy telephone to fi	See Notice ¶ 69 ading on Februaring price of otice ¶ 67(E). He stated belief laimant providurther explain to	D. Specifically, pary 23, 2018, of Facebook C. In response to that the Claim led did not character for the reason for the control of the reason for the control of the control of the reason for the reas	for shares purch "a Recognized Common Stock of the Notice of Renant's "Facebook ange the basis fo	nased during the Gain Amount shon February 23, ejection, the Class stock was pure rejection. A.B.	e Class hall be , 2018, aimant chased B. Data		
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/21/2012	Purchase	10	\$36.66	\$366.60	¶ 67(E)			
			2/23/2018 Unsold Holdings 10 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination								
33	RICHARD WESTON (50111725)	Detailed Because Net Rec Period a	Reason for Rejection: No Recognized Claim.  The Claimant held all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation  Detailed Explanation:  Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief that the Claimant "purchased I share of facebook on the stated belief t								
		5/18/20 any add Claimar requeste	requested Court review on the basis of the stated belief that the Claimant "purchased 1 share of facebook on 5/18/2012." The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:								
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012	Purchase	1	\$42.00	\$42.00	¶ 67(E)			
			2/23/2018 Unsold Holdings 1 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination								
34	JORDAN A BLIT (50111888)	Detailed Because Net Rec Period a calculate minus the	the of a length of	e Claimant held e Class Period f zero pursuant to s purchased dur nount is \$0.00. S f the close of tra e \$183.29, the c sition price." N n the basis of the	all eligible so a Recognize the Plan of A ling the Class I lee Notice ¶ 69 ading on February for the Plan of A ling on February for the Plan of A ling on February for the Stated belief the Plan of A line of A line of the Plan of A line of A	Period were he D. Specifically, hary 23, 2018, of Facebook C. In response to that the Claima	for shares purch "a Recognized ommon Stock of the Notice of Roant "purchased 10	zed Gain Amo nased during the Gain Amount n February 23 ejection, the Co 00 shares on 5/	ount, the ne Class shall be 3, 2018, Claimant /18/12."		
		transacti telephor for the C	The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:								
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012	Purchase	100	\$40.00	\$4,000.00	¶ 67(E)			
			2/23/2018 Unsold Holdings 100 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	rmination					
35	BURT MATTHEWS (50113790)	Reason	the	e Claimant held	d all eligible s for a Recogniz	ed Gain result	book common sto ing in a Net Rec		~		
		Because Net Rec Period a calculate minus th requeste purchase or supp contacte Claiman	Explanation: all eligible share ognized Loss Am nd still held as oned which shall be the purchase/acquid Court review of the Claimant by the still requested for the claimant by the court is the court of the Claimant by the court is the court of the claimant by the court of the c	f the close of trace \$183.29, the consistion price." Non the basis of the Transactions	See Notice ¶ 69 ading on Februal February Februa	D. Specifically, pary 23, 2018, of Facebook Control In response to that the Claim ovided did not contained in the reason for the control in the reason for the control in the reason for the control in the reason for t	for shares purch "a Recognized ommon Stock of the Notice of Romant's "shares of change the basis the original su	nased during the Gain Amount on February 23 ejection, the Control Fracebook stofor rejection of the businession. A.I.	he Class shall be 3, 2018, Claimant ock were or reflect B. Data		
			Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012	Purchase	15	\$41.12	\$616.80	¶ 67(E)			
			2/23/2018 Unsold Holdings 15 \$183.29 ¶ 67(E)								

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination					
36	RAJAT JAIN (49251251)	Reason	the	e Claimant held	l all eligible si or a Recogniz	ed Gain result	book common st ing in a Net Rec	•	_		
		Because Loss Ar held as of shall be purchase Court re response transacti telephor for the C	Detailed Explanation: Because all eligible shares were held for a Recognized Gain during the Class Period, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant believes "the rejection is in error" The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.								
		Transac	tional History:  Date of  Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference			
			5/18/2012	Purchase	500	\$38.00	\$19,000.00	¶ 67(E)			
			8/5/2014 <sup>2</sup>	Transfer Out	250			¶ 73			
		2/23/2018 Unsold Holdings 250 \$183.29 ¶ 67(E)									

<sup>&</sup>lt;sup>2</sup> The Claimant did not provide any indication of the ultimate disposition of the 250 shares transferred out of his account on August 5, 2014. Under paragraph 73 of the Notice, "The . . . grant by gift, inheritance or operation of law of Facebook Common Stock . . . shall not be deemed a . . . sale of Facebook Common Stock for the calculation of an Authorized Claimant's Recognized Loss Amount...." Moreover, as of August 5, 2014, the price of Facebook stock exceeded \$38 per share and never subsequently declined below \$38 per share. Thus, any sale of these shares prior to February 23, 2018 would have resulted in a Recognized Gain Amount under the Plan of Allocation. See Notice ¶ 67(D)

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination						
37	GLORIA SWANSON REVOCABLE TRUST (50110745)	Detailed	Reason for Rejection: No Recognized Claim.  The Claimant held all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation  Detailed Explanation: Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the									
		Net Rec Period a calculate minus th requeste based or rejection A.B. Da explanar	Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that "the Balance Report has been miscalculated based on the enclosed documentation" The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.  Transactional History:									
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	50	\$38.00	\$1,900.00	¶ 67(E)				
			5/18/2012 Purchase 100 \$39.98 \$3,998.00 ¶ 67(E)									
			2/23/2018 Unsold Holdings 150 \$183.29 ¶ 67(E)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination						
38	ANN E FRIEDERICHS (52629560)	Detailed Because Net Red Period a	Reason for Rejection: No Recognized Claim.  The Claimant held all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation  Detailed Explanation: Because all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class Period and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be alculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018.									
		minus the requested made or contacted Claimar	calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant's "purchase was for 116 shares, made on 05/18/2012." The response the Claimant provided did not change the basis for rejection. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and after, explanation, the Claimant still requested for the Court to review the Claim.  Cransactional History:									
			Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	116	\$42.00	\$4,872.00	¶ 67(E)				
			Post-Class Period 40 Purchase									
			2/23/2018	Unsold Holdings	156	\$183.29		¶ 67(E)				

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	rmination							
39	DARLENE K HOLZWORTH (50082018)	Reason fo	Reason for Rejection: No Recognized Claim.  The Claimant held all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation										
		Because a Net Reco Period an calculated minus the requested prepare o for reject and, after	etailed Explanation: ecause all eligible shares purchased during the Class Period were held for a Recognized Gain Amount, the et Recognized Loss Amount is \$0.00. See Notice ¶ 69. Specifically, for shares purchased during the Class eriod and still held as of the close of trading on February 23, 2018, "a Recognized Gain Amount shall be lculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, inus the purchase/acquisition price." Notice ¶ 67(E). In response to the Notice of Rejection, the Claimant quested Court review on the basis of the stated belief that the Claimant doesn't "have the proper time to epare or submit the correct documentation." The response the Claimant provided did not change the basis or rejection. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection d, after explanation, the Claimant still requested for the Court to review the Claim.										
			Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference					
			5/18/2012	Purchase	25	\$41.36	\$1,033.95	¶ 67(E)					
			2/23/2018	Unsold Holdings	25	\$183.29		¶ 67(E)					

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination ION I: Claims Determined Not to Have a Recognized Claim									
	В. С	Claimant sold all Shar disclosure of correcti	res of Faceboo	ok Common n after the c	Stock for a	a loss	18, 2012					
40	JACE STARWIN (49735548)											
		explain the reason for th <u>Transactional History</u> :	e rejection. The	Claimant did n	ot take or retu	ırn A.B. Data´s (	call.					
		Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice <u>Reference</u>					
		5/18/2012 Purchase 6,550 \$40.01 \$262,065.50 ¶ 67(A)										
		5/18/2012	Sold	6,550	\$38.40	\$251,520.00	¶ 67(A)					

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination			Claim No. (Claim Number) Claim Determination											
	SEC	TION I:	<b>Claims Dete</b>	rmined Not	to Have a R	ecognized (	Claim													
	C. Claimant sold all s	hares of		mmon Stock otice ¶ 67(D)	-	during the (	Class Period	for a gain												
41	CHERYL A BEECHWOOD LIV TRUST. (49251632)	Detailed Because Net Reco the Clas Recogni price." N basis of t the Class support a to contact take or re	The Claimant sold all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain Amount resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation  **Railed Explanation:*  **Crause all eligible shares purchased during the Class Period were sold for a Recognized Gain Amount, the Recognized Loss Amount is \$0.00. See Notice ¶ 67(D), 69. Specifically, for shares purchased during Class Period and "sold for a gain at any time prior to the close of trading on February 23, 2018, a recognized Gain Amount shall be calculated which shall be the sale price minus the purchase/acquisition ince." Notice ¶ 67(D). In response to the Notice of Rejection, the Claimant requested Court review on the sis of the stated belief that the Claimant's "claim can proceed" based on the purchase and sale made during the Class Period. The response the Claimant provided did not change the basis for rejection or reflect or proport any additional transactions beyond those contained in the original submission. A.B. Data attempted contact the Claimant by telephone to further explain the reason for the rejection. The Claimant did not be or return A.B. Data's call.  **Amail Claimant Bistory:**																	
		Date of TransactionTransaction TypeNumber of SharesPrice per ShareTotal (excluding commission)Notice 																		
			5/18/2012	Purchase	950	\$40.00	\$38,000	¶ 67(D)												
		9/6/2013 Sold 950 \$43.54 \$41,363 ¶ 67(D)																		

Disputed Claim No.	Name of Claimant(s) (Claim Number)			Claim De	etermination						
42	JOHN STEIN (49251717)	Reason for Rejecti		old all eligibl I for a Recog	nized Gain A	mount resulting in a	ock purchased during Net Recognized Loss				
		Detailed Explanation: Because all eligible shares purchased during the Class Period were sold for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶¶ 67(D), 69. Specifically, for shares purchased during the Class Period and "sold for a gain at any time prior to the close of trading on February 23, 2018, a Recognized Gain Amount shall be calculated which shall be the sale price minus the purchase/acquisition price." Notice ¶ 67(D). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant's "additional material is being submitted" to document their losses. The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data attempted to contact the Claimant by telephone to further explain the reason for the rejection. The Claimant did not take or return A.B. Data's call.  Transactional History:									
		Date of <u>Transaction</u>	Transaction Type	Number of Shares	Price per Share	(excluding commission)	Notice Reference				
		5/18/2012	Purchase	66	\$40.80	\$2,692.67	¶ 67(D)				
			Post-Class Period Purchases	392			"				
		10/21/2013	Sale	4	\$53.57	\$214.28	¶ 67(D)				
		3/26/2014	Sale	10	\$63.88	\$638.80	¶ 67(D)				
		6/18/2014									
		9/15/2014									
		11/17/2014	Sale	161	\$74.32	\$11,964.72	¶¶ 67(D), 68				
		9/11/2015	Sale	21	\$91.84	\$1,928.64	¶ 68				
		3/10/2016	Sale	2	\$106.99	\$213.98	¶ 68				
		5/5/2016	Sale	212	\$117.95	\$25,006.14	¶ 68				

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
43	DAVID A WENIG & JILL H WENIG TTEES FBO WENIG FAMILY TRUST UA 12/11/08 (49257168)	Because all elig Net Recognized the Class Period Recognized Gai price." Notice ¶ basis of the sta required." The rany additional contact the Clair or return A.B. D	The Claimant sold all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain Amount resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation  siled Explanation:  ause all eligible shares purchased during the Class Period were sold for a Recognized Gain Amount, the Recognized Loss Amount is \$0.00. See Notice ¶¶ 67(D), 69. Specifically, for shares purchased during Class Period and "sold for a gain at any time prior to the close of trading on February 23, 2018, a cognized Gain Amount shall be calculated which shall be the sale price minus the purchase/acquisition e." Notice ¶ 67(D). In response to the Notice of Rejection, the Claimant requested Court review on the sof the stated belief that the Claimant "sold the shares that were purchased within the timeframes ired." The response the Claimant provided did not change the basis for rejection or reflect or support additional transactions beyond those contained in the original submission. A.B. Data attempted to act the Claimant by telephone to further explain the reason for the rejection. The Claimant did not take turn A.B. Data's call.									
			ate of saction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
		5/18/2012 Purchase 200 \$42.00 \$8,400.00 ¶ 67(D)										
		6/17/2015 Sale 200 \$81.93 \$16,386.86 ¶ 67(D)										

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination								
44	KIM EBERT (49268072)		No Recognized C The Claimant sold The Class Period j Amount of zero pu	d all eligible si for a Recogniz	ed Gain Amou	nt resulting in a	•	_			
		Net Recognized Loss the Class Period and Recognized Gain Amorprice." Notice ¶ 67(D) basis of the stated be erroneous" The respany additional transaction contact the Claimant b	Because all eligible shares purchased during the Class Period were sold for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶¶ 67(D), 69. Specifically, for shares purchased during the Class Period and "sold for a gain at any time prior to the close of trading on February 23, 2018, a Recognized Gain Amount shall be calculated which shall be the sale price minus the purchase/acquisition price." Notice ¶ 67(D). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that "the Claims Administrators determination of 'No Recognized Claim' is erroneous" The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data attempted to contact the Claimant by telephone to further explain the reason for the rejection. The Claimant did not take or return A.B. Data's call.								
		Date of <u>Transaction</u>	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
		5/18/2012 Purchase 21 \$42.22 \$886.62 ¶ 67(D)									
		12/30/2013 Sale 21 \$54.90 \$1,152.90 ¶ 67(D)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
45	THOMAS KAPUSTA (49729650)	Reason	Reason for Rejection: No Recognized Claim.  The Claimant sold all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain Amount resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation									
		Because Net Rec the Clas Recogni price." I basis of the Clair beyond to further	Detailed Explanation: Because all eligible shares purchased during the Class Period were sold for a Recognized Gain Amount, the Net Recognized Loss Amount is \$0.00. See Notice ¶¶ 67(D), 69. Specifically, for shares purchased during the Class Period and "sold for a gain at any time prior to the close of trading on February 23, 2018, a Recognized Gain Amount shall be calculated which shall be the sale price minus the purchase/acquisition price." Notice ¶ 67(D). In response to the Notice of Rejection, the Claimant requested Court review on the mass of the stated belief that the Claim's calculation of "No Recognized Claim" is erroneous. The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data attempted to contact the Claimant by telephone to further explain the reason for the rejection. The Claimant did not take or return A.B. Data's call.  Cransactional History:									
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/17/2012 Purchase 100 \$38.00 \$3,800.00 ¶ 67(D)									
			10/30/2015 Sale 100 \$104.41 \$10,441.01 ¶ 67(D)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination									
46	CINDY RAIDER (49736808)	Detailed Because Net Recogni price." I basis of be eligible any add Claiman requeste	the	e Claimant sold e Class Period for nount of zero pure es purchased dur nount is \$0.00. It old for a gain a not shall be calcular that the Claimant points beyond tho further explain	all eligible so a Recognizers and to the Fing the Class I See Notice ¶¶ t any time prilated which slee Notice of Report of Rep	Period were so 67(D), 69. Specior to the closs hall be the sale ejection, the Clos of 200 shares ot change the lin the origina	ld for a Recognize cifically, for shape of trading on a price <i>minus</i> the laimant requested of Facebook on pasis for rejection submission. A	zed Gain Amorares purchase/accord Court review May 18, 2012 n or reflect orB. Data con	ount, the d during 2018, a quisition w on the 2 should support atact the			
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	200	\$42.00	\$8,400.00	¶ 67(D)				
			Post-Class Period 200 Purchases									
			10/24/2013 Sale 400 \$51.95 \$20,780.04 ¶ 67(D)									

Disputed Claim No.	Name of Claimant(s) (Claim Number)			Claim Det	ermination							
47	ROBERTA BASHORE (50107895)		The Claimant sold all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain Amount resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation  Detailed Explanation:  Because all eligible shares purchased during the Class Period were sold for a Recognized Gain Amount, the									
		Net Recognized L the Class Period a Recognized Gain price." Notice ¶ 66 basis of the stated response the Clain transactions beyon	Net Recognized Loss Amount is \$0.00. See Notice ¶¶ 67(D), 69. Specifically, for shares purchased during the Class Period and "sold for a gain at any time prior to the close of trading on February 23, 2018, a Recognized Gain Amount shall be calculated which shall be the sale price minus the purchase/acquisition price." Notice ¶ 67(D). In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant "did purchase 1615 shares of Facebook on 5/18/2012." The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data attempted to contact the Claimant by telephone to further explain the reason for the rejection. The Claimant did not take or return A.B. Data's call.									
		Date of <u>Transaction</u>	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice <u>Reference</u>					
		5/18/2012	Purchase	950	\$42.00	\$ 39,900.00	¶ 67(D)					
		5/18/2012	Purchase	665	\$40.00	\$ 26,600.00	¶ 67(D)					
			Post-Class Period Purchases	3,568								
		1/30/2014	Sale	1,615	\$61.10	\$ 98,676.50	¶ 67(D)					
		2/26/2014 Sale 1,474 \$71.00 \$104,654.00 ¶ 68										
		7/24/2014	Sale	1,522	\$75.50	\$114,911.00	¶ 68					
		3/20/2015	Sale	572	\$84.40	\$50,564.80	¶ 68					

Disputed Claim No.	Name of Claimant(s) (Claim Number)			Claim Deter	mination					
48	BRITTANY BASHORE (50107896)	Reason for Rejection	eason for Rejection: No Recognized Claim.  The Claimant sold all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain Amount resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation							
		Net Recognized Lot the Class Period a Recognized Gain A price." Notice ¶ 67 basis of the stated response the Claim transactions beyond	e shares purchased during sess Amount is \$0.00. So and "sold for a gain at Amount shall be calculated. (D). In response to the belief that the Claiman and provided did not cold those contained in the ther explain the reason	any time pri- ated which sh Notice of Re- ant "did purchange the bas original subn	or to the clo all be the sal jection, the C hase 140 shasis for rejectionssion. A.B.	becifically, for shape of trading on the price <i>minus</i> the Claimant requeste ares of Facebook on or reflect or so Data attempted to	ares purchased during February 23, 2018, a e purchase/acquisition d Court review on the c on 5/18/2012." The support any additional o contact the Claimant			
		Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice <u>Reference</u>			
		5/18/2012	Purchase	80	\$42.00	\$3,360.00	¶ 67(D)			
		5/18/2012	Purchase	60	\$38.00	\$2,280.00	¶ 67(D)			
			Post-Class Period Purchases	179						
		1/30/2014	Sale	140	\$61.13	\$8,558.21	¶ 67(D)			
		7/24/2014	Sale	124	\$75.50	\$9,362.00	¶ 68			
		3/20/2015	Sale	55	\$84.40	\$4,862.00	¶ 68			

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination								
49	LOKESH SUBRAMANI (50110794)	Detailed Explanat Because all eligib Net Recognized I the Class Period Recognized Gain price." Notice ¶ 6 basis of the stated 2014." The respon	the Class Period for Amount of zero pursion: le shares purchased during less Amount is \$0.00. Seand "sold for a gain at Amount shall be calculated." (D). In response to the belief that the Claimant provide ant by telephone to furth ta's call.	all eligible shar a Recognize suant to the Finds the Class Fine Police In any time printed which shall Notice of Reference and did not character and the character of the shall be shal	Period were so 67(D), 69. Sp or to the closuall be the sal jection, the Contage the basing the basi	unt resulting in a etion  old for a Recognic becifically, for shase of trading on the price minus the Claimant requested May 2012 and solars for rejection. A	ares purchased during February 23, 2018, a e purchase/acquisition d Court review on the ld 50 shares in August A.B. Data attempted to				
		Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice <u>Reference</u>				
		5/18/2012	Purchase	50	\$38.00	\$1,900.00	¶ 67(D)				
			Post-Class Period Purchases 55								
		8/19/2014	8/19/2014 Sale 50 \$75.44 \$3,772.00 ¶ 67(D)								
		2/23/2018	Unsold Holdings	55	\$183.29		¶ 68				

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Cla	im Determ	ination						
50	KATHLEEN D PITZER (49260911)		eason for Rejection: No Recognized Claim.  The Claimant sold all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain Amount resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation								
		Net Recognized Loss the Class Period and Recognized Gain Am- price." Notice ¶ 67(D) basis of the stated beli period from May 17, 2 basis for rejection. A	hares purchased during to Amount is \$0.00. See No. 100. In response to the No. 100. In res	Notice ¶¶ 67 y time prior which shaltice of Rejection documentation of the repeated of the Contact t	(D), 69. Spect to the close II be the sale ction, the Claton clearly shows the Claton clearly shows the Claton that the Claton clearly shows the Claton that t	of trading on F price <i>minus</i> the imant requested ows the purchase Claimant provide	res purchased during Sebruary 23, 2018, a purchase/acquisition Court review on the e of shares during the ed did not change the				
		Date of <u>Transaction</u>	Transaction Type	Number of <u>Shares</u>	Price per Share	Total (excluding commission)	Notice Reference				
		5/18/2012	Purchase	100	\$38.00	\$3,800	¶ 67(D)				
			Post-Class Period Purchases 600								
		10/18/2013	Sale	200	\$42.00	\$8,400.00	¶¶ 67(D), 68				
		2/23/2018	Unsold Holdings	500	\$183.29		¶ 68				

Disputed Claim No.	Name of Claimant(s) (Claim Number)		Claim Determination								
51	WILLIAM THOMASHOWER (50108112)	Reason for Reject	Leason for Rejection: No Recognized Claim.  The Claimant sold all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation								
		Net Recognized I the Class Period Recognized Gain price." Notice ¶ 6 basis of the stated shares should have the basis for reject submission. A.B. and, after explana	Because all eligible shares purchased during the Class Period were sold for a Recognized Gain Amount, the Ret Recognized Loss Amount is \$0.00. See Notice ¶¶ 67(D), 69. Specifically, for shares purchased during the Class Period and "sold for a gain at any time prior to the close of trading on February 23, 2018, a Recognized Gain Amount shall be calculated which shall be the sale price minus the purchase/acquisition price." Notice ¶ 67(D). In response to the Notice of Rejection, the Claimant requested Court review on the asis of the stated belief that since the Claimant "had actual purchases within the class period and those thares should have resulted in a Recognized Claim" The response the Claimant provided did not change the basis for rejection or reflect or support any additional transactions beyond those contained in the original submission. A.B. Data contacted the Claimant by telephone to further explain the reason for the rejection and, after explanation, the Claimant still requested for the Court to review the Claim.								
		Date of Transaction	Transaction Type	Number of Shares	Price per Share	Total (excluding commission)	Notice <u>Reference</u>				
		5/17/2012	Purchase	50	\$38.00	\$1,900.00	¶ 67(D)				
			Post-Class Period Purchases	775			" \				
		5/18/2012	Sale	25	\$40.23	\$1,005.70	¶ 67(D)				
		10/28/2014	Sale	50	\$80.32	\$4,016.19	¶¶ 67(D), 68				
		7/28/2015	Sale	25	\$93.59	\$2,339.84	¶ 68				
		8/21/2015	Sale	50	\$87.00	\$4,350.00	¶ 68				
		1/28/2016	Sale	100	\$109.04	\$10,904.34	¶ 68				
		11/9/2016	Sale	175	\$122.01	\$21,351.16	¶ 68				
		11/10/2016	Sale	100	\$118.02	\$11,801.96	¶ 68				
		2/23/2018	Unsold Holdings	300	\$183.29		¶ 68				

Disputed Claim No.	Name of Claimant(s) (Claim Number)			Claim Deter	mination						
52	SOHAM SHAH (50111308)		ason for Rejection: No Recognized Claim.  The Claimant sold all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation								
		Detailed Explanation: Because all eligible sha Recognized Loss Amou Period and "sold for a Amount shall be calcul In response to the Notic the Claimant purchased basis for rejection or submission. A.B. Data after explanation, the C	ant is \$0.00. See Not gain at any time practed which shall be see of Rejection, the shares during the reflect or support contacted the Clair	otice ¶¶ 67(D), ior to the close the sale price Claimant required Class Period. The any additional mant by telephore.	69. Specifical e of trading or minus the pure ested Court rethe response the transactions one to further	ly, for shares pure 1 February 23, 2 chase/acquisition view on the basis are Claimant provided those context of the context of	rchased during to 018, a Recogniza in price." Notice of softhe stated be wided did not characteristics.	the Class zed Gain ¶ 67(D). elief that ange the original			
		Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
		5/18/2012	Purchase	500	\$40.34	\$20,170.00	¶ 67(D)				
			Post-Class Period 200 Purchases								
		10/18/201	10/18/2013 Sale 500 \$40.49 \$20,245.00 ¶ 67(D)								
		7/26/2017	7/26/2017 Sale 200 \$163.95 \$32,790.00 ¶ 68								

Disputed Claim No.	Name of Claimant(s) (Claim Number)		(	Claim Deter	mination						
53	FELIX RAFAEL RODRIGUEZ LUNA & BERNADETTE C. RODRIGUEZ (50113468)	Detailed Explanation: Because all eligible share the Net Recognized Loss Class Period and "sold for Gain Amount shall be cate 67(D). In response to the belief that the Claimant rejection of this Claim."	The Claimant sold all eligible shares of Facebook common stock purchased during the Class Period for a Recognized Gain Amount resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation								
		Date of Transaction	of leveliding								
		5/18/2012	Purchase	312	\$40.09	\$12,508.08	¶ 67(D)				
		5/18/2012	Purchase	312	\$40.34	\$12,586.08	¶ 67(D)				
		5/18/2012	Purchase	310	\$38.01	\$11,783.10	¶ 67(D)				
		5/18/2012	Purchase	312	\$39.95	\$12,464.40	¶ 67(D)				
			Post-Class Period Purchases	1,794			¶ 67(D)				
		12/4/2013	Sale	4	\$47.82	\$191.28	¶ 67(D)	]			
		10/22/2014	Sale	15	\$79.38	\$1,190.70	¶ 67(D)				
		11/13/2014									
		2/6/2018									

Disputed Claim No.	Name of Claimant(s) (Claim Number)			Claim Deter	mination								
	SECTION I: Claims Determined Not to Have a Recognized Claim  D. Claimant sold or held all Shares of Facebook Common Stock for a Net Recognized Loss of zero												
	D. Claimant solo				for a Net I	Recognized I	Loss of zero						
			otice ¶ 67(D) and/or No Recognized Claim.	( ¶ 0/(E))									
54	DIANE MENARD (49733185)		The Claimant sold or he the Class Period for a Amount of zero pursual	a Recognize	d Gain Amoi	unt resulting in							
		the Net Recognized L Period and "sold for a Amount shall be calcu- and for shares "still he calculated which shall the purchase/acquisitie Court review on the ba on May 18, 2012. Ac Claimant provided di	pares purchased during tooss Amount is zero. Set again at any time prior plated which shall be the eld as of the close of traction by the stated belief of the stated belief to cording to that buying d not change the basis aplain the reason for the	e Notice ¶ 6 to the close e sale price nading on Fel g price of FaE). In responsible that the Claim date, [the] is for rejection	9. Specificall of trading or ninus the pure bruary 23, 20 acebook Comuse to the Not mant "bought claim should on. A.B. Data	y, for shares pure 1 February 23, 2 chase/acquisition 18, a Recognization Stock on I lice of Rejection 200 Facebook shave been accordant attempted to	richased during the 2018, a Recognized in price" (Notice ¶ 6 ed Gain Amount she February 23, 2018, in, the Claimant requishares in two transacepted." The response contact the Claimant the	e Class d Gain (67(D)) hall be minus uested actions ase the ant by					
	Date of TransactionTransaction TypeNumber of SharesPrice per of SharesTotal (excluding commission)Notice Reference												
	5/18/2012 Purchase 100 \$42.00 \$4,200.00 ¶ 67(D)												
	5/18/2012 Purchase 100 \$40.30 \$4,030.00 ¶ 67(D) and (E)												
			Post-Class Period Purchases	5									
		1/29/2016	Sale	35	\$112.35	\$3,932.25	¶ 67(D)						

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Det	ermination			
			5/6/2016	Sale	\$4,145.40	¶ 67(D)			
			11/11/2016	Sale	30	\$118.57	\$3,557.10	¶ 67(D)	
			11/29/2017	Sale	20	\$174.59	\$3,491.80	¶ 67(D)	
			2/23/2018	Unsold Holdin	ngs 85	\$183.29		¶ 67(E)	
55	ALBERT V NELSON (49734097)	Detailed Because the Nee Period Amount and for calculate the pure the Clatelephore	ed Explanation: se all eligible shat Recognized Loand "sold for a ant shall be calcular shares "still he ated which shall rechase/acquisition review on the basis aimant provided one to further expectional History:  Date of Transaction  5/18/2012	ares purchased dupos Amount of zero purchased dupos Amount is ze gain at any time ated which shall lid as of the close be \$183.29, the con price." Notice is of the stated be did not change to plain the reason for the transaction Type  Purchase	d or held all elight for a Recognitursuant to the Paring the Class I ro. See Notice prior to the clobe the sale price of trading on I closing price of ¶ 67(E). In respect that the Clabe he basis for rejection for the rejection.  Number of Shares  515	Period were solution of Allocation of Allocation of Allocation of Allocation of General Period were solution of the Maint	d or held for a Rally, for shares pure pon February 23, rechase/acquisition 018, a Recognization of Rejection was not proper to the attempted to did not take or respectively.  Total (excluding commission) \$20,149.89	Recognized Gain A urchased during the 2018, a Recognize on price" (Notice ¶ sed Gain Amount sed Gain Amount sed Gain Amount set Claimant recognized the Claimant recognized th	amount, ee Class ed Gain 67(D)) shall be , minus quested esponse mant by
			12/12/2014	Sale	257	\$78.27	\$20,114.11	¶ 67(D)	
			2/23/2018	Unsold Holdings	258	\$183.29		¶ 67(E)	

Disputed Claim No.	Name of Claimant(s) (Claim Number)	Claim Determination
56	JOHN RICHARD OLSON & SOLVEIG LISE OLSON JT TEN (49735987)	Reason for Rejection: No Recognized Claim.  The Claimant's Recognized Gain Amount exceeded their Recognized Loss Amount with respect to all eligible shares of Facebook common stock purchased during the Class Period resulting in a Net Recognized Loss Amount of zero pursuant to the Plan of Allocation
		Detailed Explanation: This Claim was rejected because the Recognized Gain Amount on shares purchased during the Class Period and held until February 23, 2018 exceeded the Recognized Loss Amount on shares purchased during the Class Period and sold for a loss, resulting in a Net Recognized Loss Amount of zero. See Notice ¶ 69. Specifically, for shares purchased during the Class Period, still held as of May 22, 2012, and "[s]old prior to the close of trading on February 23, 2018 at a loss, a Recognized Loss Amount shall be calculated which shall be the purchase or acquisition price, not to exceed \$38.00, minus the greater of: (i) the sale price or (ii) \$31.00" Notice ¶ 67(C). For shares purchased during the Class Period and "still held as of the close of trading on February 23, 2018, a Recognized Gain Amount shall be calculated which shall be \$183.29, the closing price of Facebook Common Stock on February 23, 2018, minus the purchase/acquisition price." Notice ¶ 67(E).
		Here, Claimant purchased 50 shares on May 18, 2012 for \$40.29 per share. Twenty-five (25) of those shares were sold on May 31, 2012 for \$27.47 per share, resulting in a Recognized Loss Amount of \$175.00 (25 x (\$38-\$31)). Notice ¶ 67(C). The other 25 shares were held until February 23, 2018 for a Recognized Gain Amount of \$3,575 (25 x (\$183.29-\$40.29)). Notice ¶ 67(E). The Claimant's Recognized Gain Amount exceeds their Recognized Loss Amount and therefore they have a Net Recognized Loss Amount of zero. Notice ¶ 69.  In response to the Notice of Rejection, the Claimant requested Court review on the basis of the stated belief that the Claimant's "purchase occurred on May 18" The response the Claimant provided did not change the basis for rejection. A.B. Data attempted to contact the Claimant by telephone to further explain the reason for the rejection. The Claimant did not take or return A.B. Data's call.

Disputed Claim No.	Name of Claimant(s) (Claim Number)			Cl	aim Determin	ation						
		Transactional History	ansactional History:									
		Date of Transaction	Transaction Type	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice <u>Reference</u>	Recognized Loss or (Gain)				
		5/18/2012	Purchase	50	\$40.29	\$2,014.50	¶ 67(C) and (E)					
		5/31/2012	Sale	25	\$27.47	\$686.75	¶ 67(C)	\$175.00				
		2/23/2018	Unsold Holdings	25	\$183.29		¶ 67(E)	(\$3,575.00)				
					•	Net Re	cognized Gain:	(\$3,400.00)				
		Detailed Explanati This Claim was rejsold for a gain or hethe Class Period a Specifically, for st close of trading on purchase or acquis Notice ¶ 67(C). For of trading on February 1982 and 1982 and 1982 are stored to the control of trading on February 1982 and 1982 are stored to the control of trading on February 1982 and 1982 are stored to the control of trading on February 1982 and 1982 are stored to the control of trading on February 1982 and 1982 are stored to the control of th	ected because the duntil February and sold for a lares purchased February 23, 20 sition price, not a shares purchased reshares purchased	ry 23, 2018 ex oss, resulting during the Cl 018 at a loss, a to exceed \$3 sed during the	in a Net Re ass Period, st Recognized 88.00, minus e Class Period	ecognized Loss A cognized Loss A fill held as of Ma Loss Amount shathe greater of: (I and "sold for a	Amount on shares Amount of zero. by 22, 2012, and all be calculated (i) the sale price gain at any time	s purchased during See Notice ¶ 69. Which shall be the or (ii) \$31.00"				
		minus the purchase February 23, 2018 Facebook Common As set forth in the for a loss, but had a	e/acquisition pri , a Recognized ( n Stock on Febr chart below, Cla	ice" (Notice ¶ Gain Amount uary 23, 2018 uimant had a to	f 67(D)) and shall be calc, minus the protal Recogniz	for shares "still ulated which sha urchase/acquisiti red Loss Amount	held as of the call be \$183.29, the on price." Notice of \$7,426.65 ba	lose of trading on ne closing price of e ¶ 67(E).				

A In th C te	Amount, the Claim In response to the Mane Claimant disagrate Claimant provided elephone to further Cransactional History	nant has a Net R Notice of Reject reed with the fir I did not chang or explain the rea	ecognized Lo tion, the Clair nding of No R ge the basis f ason for the re	nant requested Recognized Cla For rejection.	zero. Notice ¶ 6 I Court review of aim under the Pl A.B. Data atten Claimant did not	on the basis of the an of Allocation of the contact take or return A					
th C te	he Claimant disagnoted the Claimant provided elephone to furthe ransactional History	reed with the fire and the fire and the reader explain the reader.	nding of No R ge the basis f ason for the re	Recognized Clar for rejection. Dejection. The C	aim under the Pl A.B. Data atten Claimant did not	an of Allocation apted to contact take or return A	n. The response the ct the Claimant bA.B. Data's call.				
	Date of	-	Number		Total		Recognized				
	Total Recognized										
	5/18/2012	Purchase	4,148	\$40.00	\$165,920.00	¶ 67(C), (D) and (E)					
	5/25/2012	Sale	185	\$31.91	\$5,903.35	¶ 67(C)	\$1,126.65				
	5/31/2012	Sale	500	\$29.63	\$14,815.00	¶ 67(C)	\$3,500.00				
	6/4/2012	Sale	400	\$27.00	\$10,801.20	¶ 67(C)	\$2,800.00				
	8/26/2013	Sale	500	\$41.00	\$20,500.00	¶ 67(D)	(\$500.00)				
	9/26/2013	Sale	500	\$50.00	\$25,000.00	¶ 67(D)	(\$5,000.00)				
	12/17/2013	Sale			\$27,500.00	¶ 67(D)	(\$7,500.00)				
						<u> </u>	(\$3,098.25)				
	5/22/2015		50	\$81.17	\$4,058.55	¶ 67(D)	(\$2,058.50)				
	2/23/2018	Unsold Holdings	1,428	\$183.29		¶ 67(E)	(\$204,618.10)				
		Net Recognized Gain: (\$215,348.20)									
		8/26/2013 9/26/2013 12/17/2013 12/8/2014 5/22/2015	8/26/2013 Sale 9/26/2013 Sale 12/17/2013 Sale 12/8/2014 Sale 5/22/2015 Sale Unsold	8/26/2013     Sale     500       9/26/2013     Sale     500       12/17/2013     Sale     500       12/8/2014     Sale     85       5/22/2015     Sale     50       2/23/2018     Unsold     1 428	8/26/2013         Sale         500         \$41.00           9/26/2013         Sale         500         \$50.00           12/17/2013         Sale         500         \$55.00           12/8/2014         Sale         85         \$76.45           5/22/2015         Sale         50         \$81.17           Unsold         1.428         \$183.29	8/26/2013         Sale         500         \$41.00         \$20,500.00           9/26/2013         Sale         500         \$50.00         \$25,000.00           12/17/2013         Sale         500         \$55.00         \$27,500.00           12/8/2014         Sale         85         \$76.45         \$6,498.26           5/22/2015         Sale         50         \$81.17         \$4,058.55           2/23/2018         Unsold Holdings         1,428         \$183.29	8/26/2013         Sale         500         \$41.00         \$20,500.00         ¶ 67(D)           9/26/2013         Sale         500         \$50.00         \$25,000.00         ¶ 67(D)           12/17/2013         Sale         500         \$55.00         \$27,500.00         ¶ 67(D)           12/8/2014         Sale         85         \$76.45         \$6,498.26         ¶ 67(D)           5/22/2015         Sale         50         \$81.17         \$4,058.55         ¶ 67(D)           2/23/2018         Unsold Holdings         1,428         \$183.29         ¶ 67(E)				

Disputed Claim No.	Name of Claimant(s) (Claim Number)				Claim Deter	mination						
		SECTION II: No Recognized Claim for Failure to Cure Deficiencies										
	E. Claimant Did Not Provide the Final Disposition of Shares Purchased During the Class Period											
58	MARY LOU FLANNERY (49260667)	Detailed E Because th we were us requested the reason reflect or contacted requested	comn	Claimant did non stock purchant of zero purshot provide the fir a Recognized L the basis of the lem" The restitional transactifurther explain to	ot provide the hased during a want to the Planal disposition oss for this Clastated belief the sponse the Clairons beyond that the reason for	of all eligible sim. In responsiat the Claiman mant provided	shares purchased e to the Notice of nt "feels that Fac I did not change I in the original and, after explan	during the Cl f Rejection, the sebook and Na the basis for r submission.	ass Period, e Claimant asdaq were rejection or A.B. Data			
			Date of Transaction	Transaction <u>Type</u>	Number of Shares	Price per <u>Share</u>	Total (excluding commission)	Notice Reference				
			5/18/2012	Purchase	100	\$42.00	\$4,200.00					